
６年

１ 
（２） 

分数のかけ算 

  年   組 
 
名前 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

① 
３

４
×

１

３
＝ ３×１

４×３
 ＝１×１

４×１
＝ １

４
 

 

② 
５

８
×

３

１０
＝

５×３

８×１０
 ＝１×３

８×２
＝ ３

１６
 

 

③ 
４

９
×

１

１２
＝

４×１

９×１２
 ＝１×１

９×３
＝ １

２７
 

 

④ 
１

４
×

６

７
＝

１×６

４×７
 ＝１×３

２×７
＝ ３

１４
 

 

⑤ 
５

１２
×

４

９
＝

５×４

１２×９
＝

５×１

３×９
＝ ５

２７
 

 

⑥ 
７

６
×

９

２
＝

７×９

６×２
= ７×３

２×２
= ２１

４
 (５１

４
) 

 

⑦ 
５

４
×

４

７
＝

５×４

４×７
 ＝５×１

１×７
＝ ５

７
 

 

⑧ 
７

１０
×

８

９
＝

７×８

１０×９
 ＝７×４

５×９
＝  ２８

４５
 

 

⑨ 
６

１１
×

３

２
＝

６×３

11×２
 ＝３×３

11×１
＝ ９

１１
 

 

⑩ 
８

７
×

５

１６
＝

８×５

７×１６
 ＝１×５

７×２
＝ ５

１４
 

 

 

⑪ 
３

４
×

８

９
＝ ３×８

４×９
 ＝１×２

１×３
＝ ２

３
 

 

⑫ 
５

８
×

２

５
＝

５×２

８×５
 ＝１×１

４×１
＝ １

４
 

 

⑬ 
４

９
×

３

２
＝

４×３

９×２
 ＝２×１

３×１
＝ ２

３
 

 

⑭ 
６

５
×

５

１２
＝

６×５

５×１２
 ＝１×１

１×２
＝ １

２
 

 

⑮ 
１０

２１
×

９

１６
＝

１０×９

２１×１６
＝

５×３

７×８
＝ １５

５６
 

 

⑯ 
９

１４
×

７

１８
＝

９×７

１４×１８
＝

１×１

２×２
＝ １

４
 

 

⑰ 
６

５
×

１５

８
＝

６×１５

５×８
＝

３×３

１×４
＝

９

４
 (２１

４
) 

 

⑱ 
１５

１４
×

７

２４
＝

１５×７

１４×２４
＝

５×１

２×８
＝ ５

１６
 

 

⑲ 
２２

９
×

１８

１１
＝

２２×１８

９×１１
＝

２×２

１×１
＝ ４ 

 

⑳ 
２５

１８
×

２７

１０
＝

２５×２７

１８×１０
＝

５×３

２×２
＝

１５

４
  

(３３

４
) 

 

途中で約分をして、計算をしましょう。 

取り組んだ日   月   日 


